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SSC COMBINED GRADUATE LEVEL TIER-1EXAM
Exam Held On : 16-05-2010

SECOND SITTING

/1 PART-A. ¢
&REASONING
1, Babu (s Rahim's neighbour and

his b 5 200 :
themm:ﬂ:'ﬂ H;

s Rahim's neightyie wnd his | |

Fiov s §8 Jocsat o] @00 mitres sy
in the scuth west diroction. Gopal
Is Joseph's neighbour and he
stays 200 metres away 0 the
aouth casl direction. |s
Gopal:s negghbour aad his
i located 200 melres gway In the
north east direction, Then
te the position of Foy's b
relition lo Babue >
f1) South east (2] South wat
69 Morth 141 North east

2. A group urfl'ltndu- e Ingl:q‘h

an armn{zm:nt ore eadh
corner ol an oetagar: AN e fac-

ing the centre. Mahima s siting
diagomally apposite Ramd| Whe s
o Sushimas nght. Ravi'ls ned
b0 Sushuma and opposlie Girdhar,
wivo 18 on Chandea's kil Saviir
1% nol on Mahima's right but op-
posite Shalind, Who s on Shalinfs

Fight 7
11} Ravi 2 Mahirma
{3 Girdhar (4} Fama

3 Acube has the following Agures
dravwn on (s flve faces. The top
surince 18 hlank, The ellipse |s
between the cross and the tr-
ll'@:.'l'hthumhnﬂlhkﬁ|
of the trinrigle. “The eflipse and

ihe sguare are opposite to each
mmhmnwmw

11 Onothe 1o

(21 Opprostte 1o cllipse

(W Opposite Lo rinnghe

(4 AL the butbom ™

Directions (4 - 11) ¢ Il each of
Lhe fllewring questions. select the re-
lated wordJefters) number/ figure
Irom the gven altermatives,

4 Fox: Cunnimg : Rabhit -7
11} Courngeous (2] Dangerous

NOTE:

31PN M) GRJP
7o QIOK ; MMED : ; YAWC ; 7
1) USoA  [2) UESG
i3 VUES |4 SBUBG
ABC BCD CDE
g g
DEF DEF
N N
EOF DEF
- | o H]?
& 1:8::37.7
L) i 47
4 57 ) B4
10, 34 136 :: 48 7
(1433 @182
3 240 . W 344

1L, 987 HG:; 654 : 7

gm nm
lll-llxlnmu”
Hhﬂlﬂumhﬂut o
wand /leitess/ number /igure from the
Even responses.
13 i Room (2} Chamber
i Vermnds | (4) Cabin
B (1)} ‘Miauth Organ
(2] Edectric Guitar
{3 Reyboard
(4] Sonats
4 (I A @1
Mo ™ E
18 (1) REMP (2) JPEH
I3 RPOQ (4l HDCF
18. (1) sbodE (2] HighD
i Apgrl (4] UbrnE
17. (1) 8243 ' ' [y 2643

19, From amangst the ghven alicm:
thves, select Lhe ane nwhich o
set of numbers is most bke O
sel of numbers gven below

(6, 14, 30|

(144, 18,28 ¥ 7, L3 22
(36 12 22 W6 L, 5
Wihitch ane of the ;ﬂ-n FEs s
would be a meaningful onle
Lhe following words #

A Familv B Communi
C. Member D Loculity

E. Counry

Nec, ADBE
MCABDE
WCABED
MCADEH

21. Arrange the lollowing worcs o
cording to the dietionam

A TORTOISE

B. TORONTO C. TORPED
D.TORUS E. TORSEL
B ECAD
[WBECDA

B CEAD

(B CEDA

Which set ol letters when
quentially placed al the gaps i@
the given ketter series shall com
plete it ?

—a_aaaba___ ___ba._ ol
(1) mbaasn |2 abante
|3 mababa  |4] ahebas

Directhons (23 - 37) 1 incocli vl
the fallowing questiona, flad Lhe miss
Img number fleiiens, Mgure from b

Even respanscs
Maorcunetlg .
il xz 12] el
19w, ¥ 14 v. b
34 17, PSVYB. EHENG, TWZCF

ILORL

1] BEHEN 2] ADGIM

3 SVYBE  [4] 2CFL
M 0.4 18 48 7 180

I 58 {2 68

1) B4 100
. 35 28 24 22 7

1 I8 @ 1e

.21 4 22

informaticn provided here is only *Fr reference. It may vary with the original



27!

31

@ 1%,2].3%. 7
11} B8 [ 6%
R 7

Select the numb=r which dos
HOT belang to e given seres
272, 344, 4584, WH, 078

1] 676 [} 454

1 Axn 44 564

A s et vty some dellsate naamr

ler of passergers. AL e lrat
s, hall the passengers left the
liuis ened 36 Bowrded Lhe bas. AL

J
the sevand stp - (h ol Lhe pas

sengers befl and 40 boarded the
Wi Then, the bus moved with
50 pasarngers towards 1os desil
nation withoul stopping any
where, How many passengers
were there orginally #

[ta5 {2 3a

3 40 4] 50

.18 Lhe chay atfler teanorrow {s Sun

dav, whisl day was LemoTrow's
lay Lelare yeslerday ¥

11k Friday 4 Thursday

(4 Monday {41 Tuesday

A man b 3 vears slier tan his
il mndd [our Limes s ld as his
aoty, I the son becomes 15 years
olel after & yeuwrs, what s the
present uge of the wile ?

il Bliyears (2 51 vears

U A8 vears (4] 45 vears

o % ound ¥ are brothers, B s the

fatherof ¥ % & the brother of T
qnd matermal vl of X What is
Tin R?

L1 Mother  £2] Wil

1) Saakes {41 Drodkwee
Siresh ia T ranka ahcad of Ashok
in the class of 30 students, I
Ashoks rank is 1T fron the
lamd what s Suresh's rank rom
ke sart?

111 16th (21 3h

L ddih 1) 15%h

A word/set ol letlers @lven In
pinpucal bettery i aliwed by fou
iiser wisrds, Dt of These oy

v canaed be formed by wsing |

Lhe betters ol the gven word /sl
i Iettees. Fini owi that wore!
INDETERMINATE

U} DETERMINE

|2 RETINUE

|4 HEMINDER

4] FEETINA

NOTE:

|
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as.
amw

mtﬂﬂﬂﬂﬁi
Tl
the

RAHKSES

13 8 &+ @

151234 (2) %4213

HE53204 WB3LT4

A staterment is given falkowed by

wn assumptions, (1) and (3, You

luve 10 consider i satement

L e trwe, even if L seerms o be

at variance from commonly

known facls, You are o decide
which of the given assumplions
can deflnilely be draws from the
given satement, Tndicate your

Answer.

Statement: Theorfetleal educa-

tion does nod In. pronomic

advancement It bends i o

stcady loss of confidence and

oy i L counilry.

Assumptions :

(1) There is close relationship
hetwreen developent of con-
fidence and economée devel-

12} Theoretical sducation makes
priceless contribution lor de-
velopment of confidence,

{1] Only 1 is implicit

[2] Oy 2 i8 Lmplicit

13 MImdlmmpm

4] Both 1 and 2 are nol fmpliei

7. Two stwiements are ghven followed
b fiisr eonclustons, 1T 01 and
TV, Yigan herve: by conmidier e state-
ments o be tnee. even Il (hey
arerm o be @l varianes from com-
morly known (8018 You are
decide which of e given oon-
Cluslons can deliniely e drawn
tmthzmnmmw
E‘E{t\wm
Statements |
14 Ko cow s a chr,
|51 Al chindrg are ables.
Conchosions :
| Sooe Lahles are chadm

il Some Lalves are cows.
111 Some chalrs e cowm,
IV, Mg table s a cow.

| 1) Exther 18 or 0 Gollow

|2} Eirher Il or IV follow

13 Cnly | Follows

{45 All concliiskosis follow

38 (I HOMNESTY (8 wrilien as
Sroeds and POVERTY s
7192008, how ts HORSE wrivten
7 destain cacle #

0 %0ra4 (2 5ree
1024 (4] B2O14
nﬁnmmmﬁnm
ien ms RHRSDQ. How 18 UNCLE

wiitlen Irthat code?

0,17 B4l = 3, 633 =5, 425 -7
then 217 =7
i 8 7
(KT e

41, The Gollgwing equations filos o
comman property . Find owl [l
correct value Lo complele: D
As5ETI4) 14
B = 8] [Bi5} 15
CaTHI136) 18
De=B81{M17
s mnars
13103561 14 (1348

‘mmm*w-.luzm
Jwhich one of the following stiie
menis becomes carmect ?

[ 15=2+364 5+ 15=2
H 2w 15+3M 3=2-15

4 |2 G=4*11"0
Wiich sl of symbals can replace
vy
(LW om o+ (4 -
(R S | SR

#d. Find the mussing number [fam
iven FERPONEES |

5[4 2]

a4 (3] 4

2131

18127 | 5 |

114 2 5
13 & |4 G

4B, Peier walked § kmes wesi and
purned right and walked 5 ks
The sgaln he lurned right wn
wilked 12 kms, How fog 15 b
from the staming podnt ¥
s <] 8
3 4 14 &

8. Choose the owrrect Dguse Lhin
repeesenis the glyen relailon
Blue eyed, females. dociors

+«(Q0

. Informaticn pravided here is anly ﬁ:»r reference. it may vary with the original
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."-'_L =
e Ik@ 1
f?,

47. the four answer
:'hni‘;thumh from

the cutpéitces gven below in the
gueation fgure
Guoations Figurs

1] [iﬁj [
||

;41
H

48, I the mirror is placed an the line
L, then which of the answer fig-
ures s Lhe right Image of the
gven question lgare 7
Queation Plgics |

’ IE ’ @
48, Hew many Lriangles are there in
the following Agure 7

11 20
13 28

@ 24
(4 32

NOTE:
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B0, From the given anawer figures,
select the one in which the ques
Uon Nigure ishidden /embedded
Goestion Figare:

GENERAL AWARENESS

B1. Which of the lollowing Indone
slan régons was 1 victim of mas
sive eanthquake in 20047
1) tranJaya [2) Sumatra
(3 Kalitmngan ) dava

B Thie firm non-stop alr-condmioned |

“DAURANTO train was flagged ofl
between

[1] Seaddah = New Deli
2] Morbai - Howrah '
(3 Bangators - Howrah
|4 Chennal'- New Dethl

B8 Which winbng ithe fallowtng agen
cies released the report, Eco
nomie Outlosk: fisr 200910 7
b

2 PM's Eronomte Advisory

Coumncil
[3) Finance Commission
(4] Reserve Bank of India
B4, India and U5 have decided 1o
finalise agreements relalod 1o
which of the ollowing?
{1} Trade and Invesimant
{3 Intzliectual Property
{3 Traditional Knowledge
{4) All of the above

B4 Which one of the lallowing slates |
does riod form part of Marmada |

Arver basin™
{11 Maditya Pradesh
[2) Fojasthan

{% Gijarat
(4 Mnhprashtra

B8, Which ul the Tollowing counims
has recenty became the thind
largest sruarkel for Twiiler?

11} Chigza (& Indis
13 Bl (4] Indansss

87, The exchange of commodities
betwern two couniries is
ferred as
(1] Balance of trade
[ & Bilateral trode
13 Volume of trade
[4) Muttilatersl trode

B8, Soil ervadon on hill slepes G e
checked by
L1 Aforesiation
[ Terrace cultivalion
(% Sirp eropping

141 Conlour ploughing
B8, Who coined the word Greoer

phy
(1) Prolemy
(& Eratosthenes:
[ Hmealaus
4 Herodaius
80, Which af the following s cullis |
e “moodogical bt sped ol India !
[ 1) Western Ghaa
12} Exstern Ghals
(M Western Himilayas
(4} Eastern Himalavas
BL. The arl and sclenee of m 11 ik
it ks called
(11 Remiote Sensing
(&) Cartography
A Photogrammetny
(4] Mapping

| 83 The age of the Exrth can be

berrrimeed !;|_|,-
1) Geological Thine Scale
12l Radio-Metric Dating,
I3 Gravity method
] Fossilizton melhod
&3, The monk wha influenoed Ashika
loembrace Buddhiam was
{11 Vishinu Gugta
121 Wy Gugha
13 Brahma Gugida
(4} Bethadratha
Bl The declaralion thal Deividna
|5 o Covernment af the poo)b

by U pesngde; for Khe peogie wii
made by

[1) Geurgie Washingtin
12 Winstan Churchill
[ %) Abralim Linealn
|4 Threudon: Reoscvelt

informaticn provided here is only F.Fr reference. It may vary with the original
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a7.

7L

73

T4

The Lokl dymasty was founded

by
i1} Thrwhim Lodi
2} Slkandar Lodi
) Bahlol Lodl
4} Khizr Khar

. Harshvardnane was defeated by

(1] Prabhakaravardhana

(2} Pulakesin 11

(31 Marasimhasrarma Pallava

14 Sasanka

Wha among the following was an
itierale?

(1] Jahangr (3 ShahJahan
1) Akhar |4 Aurangaset
Which Govérner General Is as-
sociated with Doctrine of Lapse?
|1) Lord Ripon

|4} Lord Dalhousie

13 Loed Benlinck

|%} Lord Curzon

. India utlained ‘Domimibon Sialus '

i1

11 15 January, 1947
12 1h August, 1947

|41 15th Auguesat, 1950

14] 15th Qctober, (947

. Dreepollsm ja possible in a

| 1] Omie party state

2] Two party atats

|5 Multi Party state

[%} Twe and mukti party state
Marx belonged to

(1) Germany (2} Holiand

[# France (4} Brilain

. Which one of the following is the

guardian of Fundamental Righte?

{1l Leginlature

(2} Executive

1 Politcal partics

(4] Judictany

Sarkicia Commission was can-

cermeed with

{1} Adminiagrative Relorms

{2 Electorsl Reforme

{3 Financial Reforms

i4h Centre-Blate relations

The Speaker of the Lak-Sabha

has (o sddreas his/her beiter of

resignation (o

(1) Prime Mintsier of [ndla

12) President of India

{3 Deputy Speaker of Lok Sabha

|4) Minister of Parllamentary Al-
fairs

A wanl hecomes 2 demand only

when It s hacked by the

NOTE: informaticn provided here is anly *._Fr reference. It may vary with the original
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|11 Abitity to purchase
(2] Necegsbly to buy
[.‘Irnudltiqi;q
{4} Undbiny of wu-:t

78. The terms “Micro Econciics
and “Macro Economics”™ wers

|3) Ragner Priseh
14) J M. Keyhies

. Draring periods of inflavion., ax
rates should
11} increass
|34 remialn
|4 Nuctuare

TB. Which is the biggest Lk paylng
sectar bn India?

secrés

(3 Momethry sconpmics
[4) Pabcal eeotiommlos.
B80. The exocess ol prioe & peesin b

1o pay rathier than lorego dwroone: |

sumption of the commodity is
called i

il Price 21 Pro- |
[ Producers’ surplus .
(4] Consuwmer's syrplus

81, Sitver halides are waedhin photo-
graphic becaune they goe
lll-wldlldllul'

B3 Tetrn elhyle lead ﬂ!‘ﬁ.‘l I

(1] acatalyst in hurming fresll fuel

{2} wn vt ocickand, ia

3] a reductant | =

i} &n antlknock compound

Curle paint Is the wempsmiure

u which

|1) Matier becomes radioastive

[} A metal loats magnatic prop-
eribes. 1

B

) A metal loses conductivity 2,

(4] Transmutation of metal oo
[Curs,

The Isolope used for the produc-

tion of stomic snergy s

(1) U235 (2 L-235

(3 U234 o U236

I BB The noceleration due o gravity

. il Lhe equator

(1l |s less than that el the poles

(2 la grester thah that at the
poles

i3} s equeal (o Uhat at the poles

14 hoes neod. depend onthe earth's

centripetal accelerstion
BB ek of (he TollowlRig 18 not -
,*Ihida,..f e following
(1) Proton . (2 Mewsron
(3 Ebectran H{P'uilm
7. ﬂnunlmlum'-d.mtl'll:mmu
fmcture of lead pencil s
(1) Graphite (2 Lepd
[# Carbon (4] Mica
A, !mlhdl'm.l:un and angle ol re
m“ ati PR T
-etpaal (o sach other
not equal 1o gach other
1M proportianal Lo ach cther
[ Momeal (he ahove

i [ -8 zn:—ot‘l speed of a compuier
~ mehsured in

{Brs ;I3 MIPS
N Beud 14} Herz
T lengoage is 8
(N WMhﬂb}m
S e it
e
14 Assemb® 1A hghinge
Whiat happens & a pesaoi who
receboes the wromg type ol blood?
111 All thie arterses consdiict
{21 All the arteries dimbnies
{3 The RBCs agyéu linate

4 The ﬁn‘n and lymphnosles

IS atands for

(1) Mational Infecllobs $lscases
“Semiriar

(21 Matiodal rrigation Schodul:

I# Innrlsation St |

[-I-I-thl InfFormation Seciur
s WAl kaHets could nol be e
meved Trom gun S50 Injury of @
. i may cause paisoning by
] Mm‘ury 121 Lead
12) lran (4] Arsenic
Ringworm s & ... disease.
Wi Baceerial |2} Protusioan
1} Viral {4l Fungal
08, Pitultary glamd is sdtpated in
(1} the bisse ol (e hean
{2 the taac of the boain
i3] the meck
4] the abdiomen




BE. Who discovered cement?
(1] Agassil
(2} Alverius Mogrius
[ Joseph Aspdin
{4] Janseen

87. According to RBI's Report on the
trend and progress of banking,
the Mon-performing Asaets
INFA's} in India for 300808 lor
Indian Banks in 2008 have stood
il
[1) 2.3 per cent
|4} 2.8 per cent
13 3.5 per cent
14} 5.2 per cent

B8, Window 7, the lnlesi operating
syslem from Microsoft Corpora-

Lo hes ... Indlas lssguages
fonts.

1) 14 [2) 28
13 37 [4] 48
B8, TRIFS and TRIMS are the terma
asaociated with
{1l IMF 2} WTD
tdl IBRD (4] 1DA .
100. 4 Presidentlal Ordinance can
remaln in force
{1} Foa three months
2] For six months
{3} For nine months
(4] Indefinitely

PART-C
NUMERICAL APTITUDE

101. In how many vears will & sum of
Rs. B00 at 1 0% per annwum com-
prund interest, compounded
seml-annually becomes Hs
926,10 7

l Ii

i P

|

]

21 !II.:I
Wiy Wig

102. In u 100m race, Kamal defeats
Hemal by 5 seconds. If the speed
of Kamal |s 18 Kmph. then the
speed of Bimal is
(1} 154 kmph (24 14.5 kmph
(3 144 kmgh (8} 14 kmph

103, Atrain, 240 m long crosses » man
walling along the line in oppo-
slie directlon i the rate of 3
kmph in 10 seconds. The speed
al the tradn ia
(Il G3kmph (%) 75 kmph
(3 834 kmph (4] 86.4 kmph

wingovtjobs.com

104. A boatman rows | km in § min.
wies, along the stream and 8 km
in 1 hour against the stream The
speed of the strem i
{1} 3kmph {2 6kmph
(3} I0kmph (4 12kmph

1
mammi of & work in &

2
daysand B, < of the work in 10

5
days. In how many days both A
and B together can complete the
work 7
1) 10 BE
1 2] i
4 1
{!Ii H".hi
108. 7 men can complete a plece af

wurk In 12 days. How many ad-

divional men will be required 1o

complete double the work in §

diyn ?

128 {3 21

14 4 7

Ome plpe filks & water tank three

times faster than anather pipe

If the two pipes tegether can il

the empiy tank in 36 minules,

then how much time will the

slower pipe alone Lake Lo fill the

tank ?

(1] 1 hosar 21 mbnuikes

(1 hour 48 minutes

13 2 hours

14 1 hour 34 minutes

M08 [n &n examinstion, & student
scares 4 marks for every comrect
andwer and loses | mark for ey
ery wrong answer. A student al

all the 200 questions and

scored, In all 200 marks. The
number of questions, he an-

wwered correctly was
sz (@ 8o
¥ 58 (& a0

108, The average of odd numbem upto
100 s
(1] 30.5 (2 50
X 405 f4) 49

L0 If A's Income ls 25% less than
B's income, by how much per

cent s B's income more than that
of A7
1] 35 (@ 30
i i
13 Hi (4 Hs

RLiP+2 e Pse e 00

equal 1
18] 360 {1 485
13 B0 ) a2

L11& The sixth verm al the sequen
A R s
5] 24 £ 30
i3 %2 (4] M6

1% Two number are 0 the fus |
11 167 is added 1o =ach af (b
numbers. the mlo beeomes
A The smalier number s

(1) 3 il

i &8 [N

S W P I |
.ull-ﬂl-;]l-ﬁ. [8-5:)

in equat 1o

" 25 25

y 2 l

(L] a5 1) o

118 A numier, when divided by |
lemves remainder 36, 11 the s
number is divided by 17 b

malnder will be
(R4 7T
3 [ 2
118, Simplified form of
[ 5T
({9 . "
i & v
1
B ox B
11T, A 4-dight number s formed 1o

repeating a 2 -digil mumber such
as 1515, 3737, ete. Any numby
of this form |s exactly divieit:

by

7 (11
13 4 1l
LL8 £0. 1 w D08 o 00 = 10 ) ds vigual
©
1
1) 100 i T
i 100 410

4 i
L8 It "!'f""P"" the valwe ol

- S ]
F *gFﬁ_ I

NOTE: informaticn provided here is anly ipr reference. It may vary with the original



125

LF ¥4

123

124

125

(¥ -8

127,

4 12} 5
E 415 |
L A g reperesent dighta, what

I 1he poasibde asimom vahee o
i im e Atalement Hpd o+ 327 &
= 11147
1 u (48
i 7 s
(e Least among the fractions
T
142025 3-5
e I =
" g T
18 #
% o W o
4]
;37 b the furm I s eipual o
K] 197 [ 2
LE 1Dk
14 11
WA 0 [ 7]
AE5%320-330 'll}"ll
Y
L
i
1] 1 =
1 ) 7
.I. ﬂ
14 o L
(hi ol alx ponsecullve nalural
riyir s, IF e su of Brat thres
i 27, what o the som of the
olher theee 7
114 e [P
14 45 [4F 24
e HLCF and LoCW of ter mium-
baors are 12 and 336 respettively
If ane of the numbers 18 84, the
othear s 1
AR [:2} 48
(7L 1A}

I'he suan of bws rembers o 36
il their LCT amel B0 are
®and 105 respectively. The sum
b Lhe reciprocids of two suambers

i

2 I
T “ s |
I -2 .
[} 'i5 = ET |
11 be oy natural mumkber, then I

b which lurgest number in'- nl
s by dbvisabke

wingovtjobs.com

na
(LN b

e
e
b-a
138 111 En-l}I:HElllhmn is
oquad o

m%
2
o
138, How marn} m‘]‘bﬂlqﬂhﬂ]lr
hetween 190 %nd 3007
ms (7ol ]
&7 [UR

iml’ = [m:ll]"‘

D00

wid #Hld

* ‘} B eyl o

wiew '
2 1m w100

131, 17 there Is & poofl: of 208 on the
T;h‘mmgpﬂr

m*},‘.s‘

1§ IEE

on s |

(1] 24

!
mey Moo

133, If the cosd price of 15 bodks in
equal b the selling price bl 20
hiocia, the ltss percent ba
11} 16 (-3 A
13 24 (4123

133, If an artieh i sl at 2000 profit,
then the rirtho of e cost priceh
ila seTting price will e
i e
e ey

TS lfun:‘l'uﬂmdpr'be ::ehmm
ence of selling prices dis-
mmﬂmwmﬂlm:uru
discoumnts of 20% and 1 1s Ra,
72, then the marked price lin
ruptes) s '
3800 (22000
VEl 2,500 4 2,400

| 138 1t an elecirictty bill s paid before
dhue dale, ore gels a reduction ol
4% on the trflhrhlllﬁ_r
paying the bl befire dise date a
person gol a reduction of R, 13,
The ameund of his ebepiricity bl
Wis
11 Rs. 125 (& R 225
I3 Ré 395 (4 Ra 426

i

130 Successive discounts of |09,
20% and 30% s squivalent in 5
mingle discount of
[1} B0% 1% 49.6%

B 40.0% apae

187, The prict of &n kevicle was Lrat
Ircreased by ] 0% and then &gain
by Q0% 07 the lawl incoedscd
pricete Ru 33, the original psee

WES-

(11 Rs. 30 |26 Re. 27.50
13} Ra. ZB.50 {4} Fs. 25

138, If emch wide of a squmre 1 in
creased by 10%. s ares will b

increased by
1 L0% 2 E%
] 4% |4 L0

100 The retie of milk mtd walcr o
mackures of [our coniaivems an 5
:3,2: 0.3 2and T -4 respie

| Liwely, Lm wiliich contatner |s ke

| gquantly of mlk, relauve 1o wa

ter, mindmuom 7

11 Fisz (2} Secomd

13} Third {4 Fourth

Twg 1% re in the ratl |

A, IM{hetr mum s 240, then their

difference &

(1) w2 & 158

3 100 4

141, The ratio ol income and expoedi
tumﬂflpcrmnh 1110, 1§ he

saves fin BT ﬂmﬂr annum, his

Mﬁ"ﬁﬂ. ‘B0

13 Ra. B.500 (4 R, 8.25¢
T4 Wy Wymd:dand W, Wy -
1 lidthen Wy Wa e
Clh a4 4.3
me:a 4ja:5
143 A copper wire of length 36 m and
diameter 2 mm (8 mebbed 1o fomn
L} I-phEI'E The radius of il
sphere {In cmb ls
nas 123,
13 4.5 14} 4
L4 The ratlo of the radil of e

| 140,

whsels 183 4 The ratlo of Lhen
cliewl 3 s
ma:3 234

B B T S T

lll'ﬁﬂ!rwnnl‘nmunwt i i
h‘!ﬂdt@‘lmwﬂ.ﬂm-l: HE
Is decrersed by 108, the changy
i i aren will be
(1} 1% Increase
12} 1% decrease
{3 109 Increase
[4) Mo chanoe

NOTE: Informaticn pravided here is anly gpr reference. 1t may vary with the original
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148, It how many years will 4 sum of
maney double  (tasll ai

|
ﬂ-‘;“" simple interest per an-

rium 7
k] 24 4 20
I T ) 12

147, A sum of Ra. 12 000, depoaiied
A1 compound intevest becomes
dushie afler 5 years. How much
will i be after 20 yeara 7
(1] R 1.4 000
[%] Ha. 1,20.000
{1 Rs, 160000
[4] Ra. 182000
Diireg Hhone (148 - 180§ : The ple
chiari. given here, shows the wmount
al money spend on varkeas sporta by o
school admintstration i & particular
WEIT

Obserwe the ple charl and an-
start |he guientiona haserl on this graph,

Hockey

N

148, 1 uve money apent on football
was Rs. 9,000 how much more
ey wis spenl o hockey than
o [pgtball ?

11} Ra 11,000

12} Rs. 11.500

13} Fa 12,000

14} Re. 12600

il e momney spent on football
wan R, 9,000, what amounl was
apent on Crickest 7

(1} R, 31000

2] Ra. 31500

il Fs 32000

141 Rs. 32 500

IT the money spenit on fothall ls
B 5000, then what was the (otal
amoant spent on all sporta ¥

11} Ra. 73,000

i2) Ra. 72800

13 Ra 72,500

4! Rs. 72,000

148

150,
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PART-D
ENGLISH
COMPREHENSION

Divections [151-184] : In the
fellowlng questions sentenices are ghen
with blanks to beé fllled in with an ap
proprimte woed(s). Four alternaives o
suggested for cach question. Choose
the correct alternative ouwl of the four
181, The court cognisance of

the crimingl's words,

{1] tonk B made

{3 gave ) alhorwrct

183 wing this civil war there

wifl be litle rejoicing ol the vic-
loey.
{1] Whichever (2] Whosver
|4 Whatever (4] Wherever
188 As he got older his beliel in these
principlesdid mod .
[1] wither (2] shake
|4 waver {4] dither
184 Everyone in this world 5 oo
coundable to God _____ his ac

Lo,

11]- abows 2} for

3 10 14} ower
188, Yeour Mather used 1o be the prin-

cipal of this callege, !

11 did he ?

[2] does he T

Y dignthe?

41 docan't he ?

Directions (188 - 180) : In ihe
following questions. choose the word
oppoakte I mesning Lo the ghven wond
158, JETTISON

{1 mecepe |2 rewrarad

{3 preserve |4} comsend
187, AMELIORATE

(1) lepeeve |22) degrencl

(4 sollen 14 warscr
158, GROTESQUE

| 1) nnieral 1) odd

[ whimsical |4 sindul
188, DEVIOUS -

{listraight (2] olrrious

(3 ssmple [# gupericial
180. EVANESCENT

[ 1) rramiment () permancnt

[3) pervasive 14 imammsent

Erregilons (181 - 188] : In ihe
Tiliowing questions, out of the four al

ternalives. choose the oo which lesl

expresacs the meaning of the given
word.

181 DEBACLE
{1pebeeline
{24 derwemeliald
(3} cHeramtioume
{dhdegeneratsan
182 OSTRACISE
{11 anish {41 bekitn
03 Lepuie 141 besicgr
183, PROPHYLACTIC
11 srtprmin e (2] Lo
W preventioe [ purgais
184. CODDLE
111 hushedle
I preret
188, 'LIMSY
111 Fanew {21 Ermntkan
Al weak 14 partesan
Drections (168 - 170) 1ol
[ lomer g, gguestiowns, an pisrd of Uy <o
tencw 15 printed in bald Holow o
Hven aliepieas ives 1o e haldd st
(IR AT T (TR I L R R T R
septenee, O hogsr B correrd ol
thve. in case no impravement bs neesh o0
WO RS 1 (3]
188, Yo get mio the balding 1 dis
Eoime 0 i repone
11} disuise o e

12| salisly
1H riwei

1) s s e
[ el pey sl

i 140 MoamproceEmen

. He demied thar by had net forgead
| Iy s Al

L1 amsialed pand foardy

[2) bund leeyred

(8 el g

) MO e et

10 hat played well | v [

[ ey Lhie miatch,

(1 1 ploveed webl

A 1 play well

0 Tam pilaying will

) By ey e e
188 A e reeands e nissin

Vi yeesihibidy o panvengt o e
| L vt nsALEn for b sann
ol laef vannest o

|1I-"|'I
anlde
LRI
[l e

| S8 MR
2kl

14 |"v|-1|1'|;-r11\.':'nu.-|1l,
L0 A caliois system generates r
g by st
1] tevilops
12} tchuces
1) prowduces
Ish} Mo s el

NOTE: informaticn provided here is anly 1"|r-r reference. It may vary with the original



[Hrections (171 - 179 ; ln the
oo it st s ek ol Lhe [ous al
o ives choose Lhe one which oo
subeditoted lor the given words)
170 e wikney hidess away o o Shlg i
ahilinin @ free passage
1) Comrposiior |2} Stoker
B Stowawery [} Shdpraright
1 e eadlabsle Al w scene
[ cireumstantia
19 iderewalive
14 inferontal 4] suggrestive
An imespecied picce of gooil for
1
IL] il
12 philanthropm
1} braevalence
13l st
Wi emelurment over and whone
lieed bncome or salagy
HRE e
1 Shierune
1 Perguisiic M Prenogative
178, The anwmsals ol a particlar regin.

173

173

174

111 Flora 121 Museum
(R T 14| Faura
Mrectiona [1T8-180) : In the
jlizimy questions. groups of fous
words are glven, I each groug, one
vl i emwrestly apels Find Lhe cor-
evlly spelt wond
178 1} pamapharrelis
4 pusrslmondoos.
18 peccadiio
|41 preadiatrics
111 imsasureatibe
121 gl
[ rmarrigalie
111 raneesrble
1] nsmsel (2] tuannke
1:3] tumbile {4} trable
1) popuhas (0 pompms
[ prelous
M grescomruous
{1 smpromptue
|4 Uluskrigis
18 iy [4) impetous
Directions (181- 188) 1 In the |
fiilliwir uirsthons, the s and the last |
wrences of the passage e numbersd |
wid 4 The rest af the passpge (s
st i [ parts and named P, Q. R
will § These four parts are nol ghen
It thelr proper order. Read Lhe gen
tonie aned find out which of the Ear
voirihistatkmns s correct, Then lind the

ITT

18

PR HISWET,
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181. 1. The most vulnerabls section

ol Lhe society are the stu-

=S, J

Revalullonnry | gnd new

Nedged id=as have @ great

appeal to them. .

(- Agitations may be non-vioken
methicds of protesi,

K. They canned reatsd Lhe charm
l ernaLanion,

5 They arc o be tmught that
withoart disctplisg they canmol
261 proger education.

i Howeser if these become vio-
lent, the antisoclal glements
gel encpuraged and they pul
all proger worlog out of gear.

{1} PRSG 21 REQP

I3 SHPQY 1) FPgS

1 Menice is a strange clty.

P, There are aboul 400 odd
bridges connecting the 1s-
Tameds of Venles,

. There are no moldr cans, mo
horses and no buses there.

R. These small islinds are cloae
1 it hsother,

& 1tk nod one ssland but a bun-
dred {alunals.

. ‘This is hecase Veroe has mo
alreels,

|1 SRrFQ

[3) RRPS

183 1

F

182,

f2i PSRQ

(4] Q5RF

One of the most 1errible
Linttles of the American Civil
Wiar was fought induly 1BE3,
al Gediysabueg.

B The chief speech on hat o¢-
casion wis given by Edward
[wverett, a relebraled aeator,

& Lincoln was asked o make @
few remirks.

4, In Wovember of that year a
poriien of the batllefield was
deticated as a final resting
place for men of hoth armies
whao died there,

5. Everctt's speech lasted 2
hours. Lincoln's Tor 2 min
wles, |0 was over abmost be-
fure the crowd meadized that (0
Fead begun

. Bul the Gettysburg speech s
riis e of e wrld's kmmar -
tal pheoes of literature.

(N SgRP |3 RPQS

171 PRS 41 PSR

184, |, Theleaches tralning agency in
England hopes Lo make teach-
ing ane of the top three pro-
lessions

P. Thesy hiwe alao desmsnided that
the campaign ahauld be
matched By dmproved posy
semles, wiork [oad and morak
g0 as Lo avodd pecroitmemm
protilems with an aim s
ihe bmage ol Lhe Leachiig g
feasban.

G. Aseries of dvertisements are
now belnig, screened showing
(o propde speasiog bl
Leschers they remembier and
ashmire

R Anamount of 100 wllion
has been sct aside to cambxal
the shortage of applicant s i
ieacher Lraining.

8 Teacher Unions have vl
commed this campaign.

6. Itis high Yime for the Indim
Guvernument alad to think oo
pimilar lines and ake sieps
1o 1L wp e sinking i
ol e teaching profession,

|1} QRPS 2 APS0

13} RigSF AArsR

188, 1. Somie say tnat Endlure o Qe
\oxle wasde,
P, | s faliure more a8 3 feaif

Leer.
0. Thimking abwout it pollutes ansd
weidermines Uhe attitades

needed for sucness.

B, The seeds of sucoess sl oo
planted afresh.

5 N ocan be wsed o ennch 1
wall ef your mind,

#, Turning faiture bt 8 ez
i accomplished by using you
£rTOrs B Sleps in beamine

11} SRQE %) PQSR

(3 5POR 4] GPSR

DMroctions (186 - 180  nthe
following guestions, o sentence Fus
been ghven in Active Volce/Passiv
Volee, Out of the R plermatives s
gesded, sebert Lhe ane which est ox
presses the same sentence in Fasshoe
Aclive Volee.

188, The agent had disclosed the <o
erel befare 1L wis evening

{11 The secres was disclesed Iy

the agent helfore §i was
evening.

12] The secrel haidl digchised by

the agend Telore B il oo

evening.

(M The secret had been disclosed
by the agent before i was
evenlng,

4] The sccret was disclosed by
the ngett before i ko bees
evendng

NOTE: informaticn provided here is anly E:-r reference. it may vary with the original



Directions (171 = 178 : In Lhe
[l b oeestions, oul of the four al
i nmtives, vhoose the one which can
Ii sabstituted fr the given wids/
woriliEice
171, U who hides awiy o6 i 0dp L

oibvlabn @ lree [saseage

11 Compositor [2] Stoker

(% Stowawny 4] Shigmeright
152 € fues avatlabde sl b soene

{1} chroumatntial

12 cherivative

] inferential (40 sudgestive
4. Anunespected piece of goed for
i
(1} wirslinkl
121 philfant hropy
M beevolence
|41 tmstile
An emolument swver and above
Flaee] Lneoame or salary
(1) Hemwwarium
14 Sinecun
4] Perquisiie 4] Prerugative
178, Uhe antmits of 4 partioudar regon,
11| Flora 13 Mussum
13 Eno 141 Fanra
Mrections (178-180] : In the
[lliwing questions. groups o four
wopila are gheem, |n cach group, one
wond is correcily spell. Fied the cor-
ety spel ward
176, |1| paraphamedia
2} prursimonious
4 peccadilo
{4 pewiinirics
=] mensurentde
(2] misnagealde
[ imsrriagatle
11} manoevrabile
L) tossel 121 tianinde
AR 10 [4) trahie
L1 popudes [ pompuoas
N prellous
|4 presumpludus
L LI epromplue
[ ihastrions
i usery 4] it
Directions (181~ 188) : In the
i Thawing iuestions, the st and the inat
aiterwesol the passage are numbered
| ind 6. The reat of the passage 16
pilst ko four pans sod named P, QR
il &5, These four parts are not ghen
i ihesr praper order. Read the sen-
e and find out which of the four
enbinations i correct. Then find the
ATRL AR,

|
-

174,
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181. 1. The most vulnerable section
ol the soclty are the stu-
clenis,

P. Revalul i new
fledged idead have & great’
aspeal to thews,

. Agiations may be non-vighent
methods of protess.

q:{rmuwd-ndl}qu
il prapér working oud of gear.

(1] PRIG ) RSQP

(4] SRPD 144 RPgS
182, 1. Venlos s o strange city.

B There are abgul 400 odd
bridges commecting the is-
fands of Vendee.

There dre no molSr cars, na

harees and no buses there.

‘These small islinds are chote

10 oz inother.

1t Lz ot one ssdand but & hun-

dred] fabands,

Thils bs berause Vendoe has no

sirecis,

1] SHPG 12) PSR

1ﬂ+ﬂﬂﬁ i4) QSRF

One of the most terrible
batiles of the American Civil
Wier wies gt inaJuly 1863,
il Gettysburg.

P The chief speech on that oc-
canion was gven by Edward
Everedt, a cebebraled arstos

. Lincoln wis asked to make o
few remiries
[m Meowember of Lthal year &

of the hattl=febd was
dechicated as a fnal-resting
place for men of both armies
who died there.

5 Evercit's speech lasted 2
hours. Lincolw's lor 2 min-
utes; | was over almos: be-
Fore the crowd realised that it
had begun,

. Bt the Gettesburg specch i
nemy one of e world's lmmor-
tal pleces of Hterature.

(1l SgRP {7 RPGS

() PERS 4] gPSR
184. 1. Theleaiher tralning agency in

England hopes 1o make teach:
ing one of the top three pro-
lesalons.

5

(i}

P They b also demadedd i
the campalgn should b
maiched by fmproved oy
scates, work load wnd moral
a0 as 1o avodd recruitment
profiiema with an aim Lo Faise
the tmage o Lhe beacking, proo
fennian.

. A series of acdvenisements nr

now belng screened showing

[narsius people apeaking abu

{eachers they remerober and

admire.

An amaant of 100 millinn

hes been sot askde 1o combal

Lhe shortage of applicanis fi

iegcher tratning.

&, Teacher Unions have wr!
comed tis cumpadin.

6. -1t i= high time for the Indan
Gowernment also to think oo
similar lines and take sieps

¢+ o ML up the sinking macak
of the teaching professian.

|1 GRFS |2} RS

3] RGSF |4} QPSR

188, |, Some say that fbluse i ke

Lowdc wanie.
P, | see fallure more as o fer il

Q. Thinbdng sbaul it pediutes anil
undermines the atliiules
necded e suUCCEss.

R. The seeds of success masi e
planted afiresh

S It can be used Lo Enrich (e
sodl af your mind.

&, Turmdng fiture Into g Jerileers
i pocompleshed By usiig yisi
Errars &8 sieps In [Faming

{11 SRQE (2 PRSR

(3 sPOR 14 gPsR

Dirsctioms (188 - 180 : In the

fallowing questions, a sentence lis
besn given n Active VoboeFasslo
Walce, Oul of the faur alermatives suy

gented, select Lhe ane windch best cx

presses the same sentence in Passive
Adtive Vodce,

188, The agent had disclosed the =

eret Defore [ was evening,

{1} The secret was dischosed Ly
the agent hefore it was
eEnlng.

121 The secred had disclosed by
the agent belore B had heen

evenlog,
(3 The secred had been disclosed
b the agenl before it wis

evening.
) The secred was dlsclosed T
the agent hefore (L had bern

evening

NOTE: informaticn provided here is anly {]}r reference. it may vary with the original



147, Surely the lost child must have

Do Boasid by now,

{11 Burely must have foend the
Tosl chidd by mow.

{2} Surely someone must hive
faumed the bost child by mow.

1 Surely mow must have found
the lest child

(4] Mew st baver Towsnd thee Joal
child sarely,

We serve bl meals (0 10,30

gueals can uider, colles and

sandhwiches upio 1130,

(1} Hot meals are serving il
10.20 . colfee and sand-
wiches are ordering by guesis
o

[2] Hol meak are being served U
1030 | colfee and sand-
whchies qre being ordered il
-3

i3 Hol meals are served 1l
10.30; colfee and sandwiches
may be ordersd UR L1130

(4 Hol meals will be server Wl
10,30 colfee and sandwiches
will be ordered upto | 1.30.

Lag lace down: sireteh your arms

intronl,

1] You are (ace down. arms are
16 be ousiateetched

{1 You should be bying tace dawn,
with ars outsiresched,

13 ¥ou should be hing Ece down:
bl mema stratch ol

|4 Let face be down: lew arms be
giredched oul,

180, The Greehs expected (o win the

Intemationl Lrophy.

1) 1 was expreled that the
Creeks wonld win the inter-
ntiomd tropky

[21 The isdernalonal trophy was
expericd 1o be won by the
Girecks

I3 1t was expecied thatl the
Greeks will win the inlema-
tomnal irephy

14] 1t was expected by the Grecks
(thad thvey would win the mter-
matiomal lnophy.

Ddrections (191-188) : In the
Iuillmwirg questions, you haye one briel
puissage with 5 guestions following the
jissage Remd the passige carefully
andd rhoose the best answer 1o each
uention it of (he ur allernatives,

In May 1966, the World Health
Organisation was Autlorised 1o inftiate
o global chmpmign to-sradicate amnll-

wingovtjobs.com

pox. The goal was to eradicats the dis:
ease in one decade. Because simdiar
profects for malaria and wellow lever
hiad failed. few belteved that smallpox
oould actually be eraclicated, bul cleven
vears after the initial organisation of
the carmpaign, no cases were reported
in the field.

The slrategy was nol enly Lo pro-
vide mass veccinations, bul also (o
Igoate patients with sctive small-pox i
order Lo condaln the spread of the dis-
casc and to break the chain ol husman
tranaitisalon. Rewards for reporiing
small-pox assisted In motlvating the
public to aid health workers. One by
one, each small- peo victim was soughi
oul removed from contact with others
and trewled. At the same time, the en
tire, village where the wictim had lved
wiid Viserinated,

Today small-pox s no longer 2
thread 1o humanily. Roulne veccina-
Ghons have been stopped worldwide.
191, Which of {he following is Lhe best

LiLle for the passage 7

[1) The World Health OGrganisation

[2) Thee Eratication of Smiall- pox

] Small- pax Vagcinations

[4) Infectious Diseanes
183, What was the goal of the cam-

padgn agninst small-pox

(1} Ta deefease the spread of

sl o wn

(2} To elimbnte small: pox workd-

wide In ten years,

3 To provide mifas vaccinaiions

| aibriost el |- wor ldh el

was Lhe strategy used to rHmi-
"1 1 mnte thveapread of small-pox 7

11} Vaccinatlon ol Uhe entire vil-
lage

(3 Treatment of mdbvidual we.
tms.

. (3 Tsobatior of victims and mass

vaccinalions

[4) Extznalve roponiing of oul-
breaks,

184 Which stalemend dorsn | refer

szl g 7

(1} Previous projects had (afled,

[2} People are no longer vacc
nated far it

[3 The Workd Health Origarisition
mounled & worldwide cam-
palgn to erpclicale the diseise

4 M was a serious thrent

| 198, It ean be inferred that

11 ne new cases o smnll oo
have heen pepaorted Lhis e

12] mmatarsa dnd yellow Bever b
ligesn ellminated.

13 amall-pax viclms oo long
lie when thewy contract 1h
dintase

4 smmall-pas B not e
from ome person L s oo

Direstions (18- 200] : Sam0 |

| the senferices hiave errors and « o
have pone, Find aut which pan o o
senitence has an error. The nunbaer ol

| that part & your angwer I e oo

| ErTEL, yaur answer s [<4].

108, Judge i him 1) provided opon

the Gather (2); wnd b senne o)
Iis s (o dieath. (38 Noocoe
14
1B7. Nine tentha (17 of the pilar 12
harve rotbed away. (3] No ereon 11)
108, One major reasonfil/ 00 (0

papubariy.ed televiaion in 12) e
mist peaphe lWe Lo slak 4t boon
131/ Ne ertor (41

186, DurﬂTar-.nmm,.f.munn- g
. ahpud {20/ & reconcilation 1
" Mo error 4]
200, Three: Comalilloms (L1 eried 1o
growing (2l plants are soll e

perature, chemmal labinee o
A of malsiure 170 S
row i3]
ANSWERS
mENETIET
IR
MR
1879 14| 1808 ] 16 101
1700 A 1.1 20 2
I 32T BT e
a8 )| .} 2| 28
20042 | 30,2 | 3n | oo
EENTI T W T
ERETmEInE
ENNE - InE
48,091 46 (3 | 47, 1 | 480
485 | BO.(1 | 81z | Be o
BA ()| B4 30| 88 (8| B&1
e IR
o1 e (2 | sa iy | o4
| 8B (0| 86 12| 67 0% | sa
86,02 | 7o T | T2 |

NOTE: informaticn provided here is anly fﬂ.r reference. it may vary with the original



L1 AT

161 2)

L

TH 4}

78141 |

KEE

TR}

80. 13

L1 ]
LS

83 (4}

8711

L
B3 (|
LAl

L

2. 4

o
T

#6101
100 |2}

105, 12 |

104 iy

L0 (1)

107. i3

108. 2}

104, [2}

11 13

1L (@)

112 (3

TEA (2§

114 1]

138 ()

L1& (3

117, 14

TIA [4)

1180

120. [7

121, (2

LR, 13

13 3

L4 1)

143, (21

138, |

127 (3

138 1)

120,y

130. 14)

130

133, (4)

1330
137, 14)

138

N30, |

§38. [

140, 1]

1414}

143, i

L. ()

14312

147, 14

148 |1}

14913

181 (1}

182. (24

I:!-J.I-I}

188 [}

158 |1}

157, 14}

198 (1

80 2}

183, (4

Lo4. (2}

lod. ()

187, (4

188, 4|

Lo, 1)

179, (3

ITL 4

TR (1}

-l'?.!.l”

174 1)

178, 14

17, (2|

1T [

178

178, 14)

180 (2}

181 (L)

182. (1]

183. i

184 (3

185, 14}

184, 1)

187, (2

188. 13

i, 4}

L8O {4

18l iy

180 [}

184, 1)

186, i

196 (1}

197

198. 13

198 @&

200, (3
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Nurth

W NE

Wesl East

W SE

Soulh -

The hotuse of o bs in South-
direction with respect o the
houise of Babu

an

Shalin Muhima

Sashnia 'Eh.'lll'll!

famb - Savin
it 4 10 the right of Shalini
3. (4 According 1o question

- O

N

0 >

The circie a8 at the batbam
&[4 Here andmsk-behasour rela-
tionship has been shown. Fox s

L K]

AL C
F

=

r.mrlnic

A

+

3 v
Bl (1= b (2 <8
[ =27 12 = [54]
M4 -1 =24 874 ] = 1206
Polmdl Pl d3
mEe 8 7
£ & i
I H G
Simillarhy,

ARC: BCD §: ThR o
| L K]
I I

4

D

13. (3] Except Vernmin, all others
aurrounded by four walla

13 4} Except Sonati, all uihers e
nstrumenis. Sonata s plece o
musée composed for one sl
ment or two,

14. 1) Except D, all sthers are Vow
els

n i &
M|

1813
Rt gyl B
N [ L K 9
R—2p ! o .y
DLt it

18. (3 ipApqrl malwh
ers the st ancd the list Lot
ghven in Capllal nre Vowets

17,14

B+2wB d+dnT=8-76|
LeGmBd+dnTml-7s|
Bodm G s S | |- 01
w

deBa BB+ Told= 12

MOTE: informaticn provided here is anly "nr reference. it may vary with the original



18 (4] 49 = 33 = |6; G2 - 46 = 160

-67=18
Bul,
70 ~ B = 15

1943 6+ B= 14 §4 + 85T = 30

20, 12 Meaningful order af the wards

TeS=1% )2+ (5n2=22

3, Memiber — | . Family —+ 2. Com-
mundty —+ 4. Locality — 4, Coun-

lry
21, 13 Arcangement of words accord-

Ing to Dicthonary :
1 Toronto — 3. Terped —
. Torsel -+ |, Tortolse - 4. Tons

2. 1) [a]a[b] ataaba/ [aa]

ba/[a]ab[a]

3. (3) There are two alternating se-
ries

]

F

—"-:-—-—-t—-—-—rp_-JL.q

LIPS L P Y

Therelore, ? = ui

4. (2

I
E
-

A ..“3_..

=3 5 o y

il wl

b0 Y . N

=1 «

—f'ﬂ'—iz—-—qc—lr

a ., L ..Lu _':',n__:,‘;. u

Now.p_% T, u_..u.d
Therefore. the fmst l=iter d'lrh-
lirst term shopid be

B~

a8y

a5 |4

26. 30

0 4 18 = 180
4 =14 #3530 81 +80

+10  «l -

TEREY
F 4 4

9.1

H%T‘E

"".‘T“"ﬂ

wingovtjobs.com

B84 2324 111 = 343

43+ 111 = 454

af
mfnl-
665 + 111 = 676
The numbser 584 does not belong
i the seres.

29, [7) Buppase therr were « pansen-

—
Nunlbh:ﬂpulmmnhrlhl

m-%*ﬂﬁ
Number of passengers after sec-
wm-"[-—‘*m] 40 = B0

[B0 - a0)

x5
4

¥
-i+35a

-%-m-m- s
o X= 30

30, {2} The duy after tomarrow (s Sun-

day

Therefore, 'Hih' is Priday,

The day on tomarrow’s day before
yeslerday = Priday- | = Thursday

81 [4) Suppose Lhe present age of

#0418 x years,
Therelore, present age of the [&-
ther = 4x yeamn
Accarding io question

x+ 3w 15

dptm 18 - 3= 12 years

The present age-of futher
=dxed K 11 = 48 years

/. The present age of man's wile
=48 - 3 = 45 years

5. [ R s fnther of X and ¥

5 In maternal uncie of X and Y

Considering the given options, il
WNMMThﬂEd

H.ﬂ}

g

S4. (2} There @8 no ‘U letier in the

Ehven word.

mo AL

B8

8. {4) Neither | nar 2 iz implicit in

e stmlement. The stalement does
nod indicate that confidence and
economie development are related.

A HON

7.1 First Premise ks Universal

Megatlve [E-type).
Second Premise ts Universal
Flrmative [A-Lype).

Ko caw |4 chalr.

Al chalrs Jire gahiles
E+A=0 - lypeof Conclusim
“Bame Lables are not cows
Conclusion | Is Converse of U
second Premise. Therelore, Con
clhasion [ follows

Conclusions [ and 1V o

Complementary Pair. Therelore
elther Concluslon [1 or [V lalkws

Thue, Conclusion | and Cenclu
awon Il or IV [ollow.

=1
-

- "

-
e KN,
o -

oo e & L0

E
-
2
R
4
L]

-
- e

: |
" E
L
2

-3 "
w e
o

Thierelore,
HORS
i 4 d b
3 10 4 2

=

;.1

SISTER=—R

Sumilary,
UNULE—+TMHE 1
| -1 T 4T$
-1 | |
-1 B
|
|

ﬂll%#'l:'lfl-.‘!

= 2:2+d:=DH
P +d=

"li wd:d+T=8
11-“1 Pluld=TL4

l-Elx 15 = 915
'"Caflxlf=1138

FD=Bl w17 =[1377
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AL 5=154+2
LI Eixd-fudm]l e
30 - Gim 4 v 0o 34 = 44

HH G+ 4=0and B2 =18
fedsGand 9xd =27
12 +4 = 16 aid
Ho
- El
4314
G ldkm 0 o
. gl d4km *
= |
B Bkn

o

I
« Al < DER = R 4 4P

Ji7TG » B -5k
L1 S her everd oy e frmales
annd s versa,

Some females may be doclors and
wICE Vs

some Bloe eved mmay be doclors
1] Ve e e

4,

Some blue eved femples moy be
dactors.

/

ill-]u.' yed

1.?'|||_"]

4

A8, 111 In water image upside be: |
coanes. dewnside

wingovtjobs.com

AFER | ACBD 1 AFAG : AFEQ:
ABCI : ACDI1 ; AAF] : AETI 4
ABGC ; aDEG ; AAGH ; aBIH |
SAAGH: AAB]: AHMABR: AHBI:
AHG!; 8HAG ; AGEI : AGED
AIDE: AlDG, &)GL: 8300
AJGE: AJDE: AME: ABOD,

Thus there are 28 (rlangles. g0

81, |2 Swratra

B3, (1) Seabdah - New Delhy

B3, [2) PM's Economic Advisoly Coun-
cll

B4 |4 All ol Lhe atsowve

55, 2] Rajasthan B8 (2] Indda

&7, [ Volume of trade

88, 2 Terruce cultbation

54, (2 Erslosthenese

&0, (1] Western Ghals

61. (2] Canography

2. [2) Raido-Metric Dating 0
| 63 (2] Upa Gupla
4, 13 Abraham Linson
5. |3] Bahkol Lo
66, (2] Pulakesin 1l
| &7, 3 Akbar
B8, {2| Lord Dalbousie
| 8. (2} |5th August, 1947
70. {1} Dne party state
| 7100 Germany T3 (4) Judiclary
T3, 14| Centre-Biate relallons
| T4. |3 Deputy Speaker of Lok Sabiha
75. 4) Uttty of the procuict ||

Th |4 J.M. Keynes

T7. |1} intrense

T8. |4 Industrial secior
TH. [ 1) Bormative sconomics
80. (3 Producers’ surplus
81, () reduced hy light

B2, (9 an antiknock eompound

B3, [‘Jl.i.m-rtn]iulﬂnup:lbi'p'up-

4 |

eribes.

B4 (U208

B5. 1] is jeea than Lhat al the poles
BE. |4l Ponlren BT, (1) Graphite
B8. | 1) myual (o each other i
BE. (2] MIPS

00 (2] High bevel language
81. |3} The RBCs agghutinate

2. 4] Natienal Information Sectos
B3 [4) Arsenic @4, (W) Fungal
88, (2] the base of the brain

6. 3 Joseph Aspdin

87, (1) 1.3 per cnl

e

TR 90, {2} WTO
1002 Por alx monthe

0L (8] | Tricky Appraach

Rale = [P per annum = 5% hal.
yearly

| .h-!'[ha—l

i i 1

f;*_f

-mm-ml oo |

™ %000 ©

FIN
a6)

21y
iﬂ'.l
21y

)31

1
2 Time = 3 half years o £ yeary
10 13 Time taken by Kamal
1o

mkﬁ

= T meconds

- Time taken by Bimal
= 3 + § = 25 seconds

llnul'ln-p-ud-——rd 1H1 Hre

4x18

5 Aophs
103, (3 (Mthe speed of tradn be s kogd
then. /!

144 kanpih

s retagive spoed
Lerigth el the i alu
Hebivhe spml

=[x+ dl kmph
2 Time =

440
: L4

[{1] =
L0y +

—— = AP =
3600 |xe )
- g3 s BhA4

= & = B34 kmphi

=

Speed l:{turmﬂ

|
= i_lﬁ‘ltn downstroam - Han

1
upslream] = 1 FUE - O gl
| Raibe dowmstreat
- liﬁl} 12 hnphf
=3 l:l'li!
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108 /2] Time Laken by A alone in do-
ing the work = 18 days
Time taken by B wlone In dedng

10x5
the work « — = 15 days

LA+ Bl's | day's work
L1 548 8
"I5 T T
- Hence, the work will be com-

3 .e3
pleted tn 7= =95 days,

108. {3
i
'.EL !1|-T J'l

EREY|

2]-'.:1"':4:

= 1laBxx=2x 1287
221207
sxe 220280 g

7, Number of addithonal men
=81-T=14

[oR]

M D W, = MDOW,
=—TK1132--H9!!! 1

Tull2xd
m:-c.m

. M of additional men
=21 -T=14

107, 44) | Tricky Approach

1f time taken by the pipe ot faster
rate Lo Al the tank be x minutes

= Ik=4xM
=+ x= 48 minutes
s Time taken by the slower pipe
=48 % J = |44 minutes
= 2 hours 24 minutes
108. (2 If the number of cormect an-
swers be x, Lhen
xn &= (200 - x = 200
= 4x — BH} & 5 = PO
= Bx =400 .

=xm %-m

wingovtjobs.com

109, (2)[Tricky Approach]
Average of the first n natural odd
TARLbETS = it
Number of odd alimbers upto
100 = 50 = required average

0 19 [y ]

Required percentage

5
T EE:H}D..-- 33—%
111, (2] | Tricky Appraach
1208 My
il + 11{2n + 1]
B
LR e 3y
10000 + 1) (20 + 1)
bt i Gl s it |
6
LA 2+4=6
GeS=ll
lE+B=LT
ITT=34

MeB=
118, |7 Let the numbers be Txand 110
reapectively.
CTxsT 2
“Tix+7 8
L Rlxs 4= Tlx+ 21
wsywT .
=Tek=TuT=248

141
(-5)0-30-5)

« 107

= 3858

1 j”k}ﬂ -E-
g8 4 25

. R o

T the: first divisor be & multiple of
the second divisor, then required
remainder = remainder obtained
by dividing the frsl remalnder
{35] by the secand diviser [17)
=3

wald

e ()

1. =B

_EE”T“‘
- x5

3 -5

i
x5 ax

107,01 [Ty Agprenc]
gy = w100+ gy
w 100+ 1) = 108 = ay
Henez, the number bs cxaciy i
vintble by 101.

118, (4] 0.0 = 000 = 0000 = 20
= 100 % §07 = 10

1“' _Ll.--i
m!p+ b

|
«=—=1

3

2p)

1 P
.pﬂ.m.apﬁ-lﬂ i

lip,té‘- sB-A="0

£

120, (MG F @
Jar
28
1114
Il p =10, then g's maxbmum vi e

=7

19

2 22 a0
]nm nﬂﬂ" ' 36 0

i a4
— =058, —SS:H‘:J?

= ar b
=A% g7 =gy =1y -
193, (4) Expression

_ 420348 - 305)
LTS
420020
T

1AL} B+ B+ 10 =27
l+12+13=38

=10

NOTE: informaticn provided here is anly fEr reference. it may vary with the original



125, (2 First number » second num-
her = HOF = LCM
= B4 = pocond mumier
= 12 w336
. Second number
14 = 336
= 48
128, (3] Let the numbers be 3= and 3y
Jdg s Oy=38
= x4 ym il o
and, Jay = 105 o [l
Diivicing exuanklom § by (i, we have
12

P R
108

-
day - Aay

Lt ¥

Fay A 36
127028 m == p -1

=rnlns 1 jn-=1)
Forrme 2 f-ned

128. 1)
| i = 004
b 15
004
Fiy compasvende and dividendo,
b-a 15-004 148 73
b+ L5+004 T 154 77
LG 1) 1Y - 191, 129 - (44,
13 = 189, 14° = 108
i85 - 298, 187 = 258,
|7 = 289
o 001 - 00001
o £
o b e | o= 106N

13064 ’wwm

If the cost price = Rs. 100, then

selling price = Rs. 120 and gain
= Ry, 20

i

0000

4| mm——y ]

R

20
=— x 10
Required gain % = 150

50 2
=t :IE._%
3

L3, 14 Ifmtmplhﬁﬂhhﬂ
L Re, 1. then

SP ol 20 books = R 15
CF of 20 books = R, 20
-16
0
= 2%
133 (3 Reguired ratio= 1 : 3

w100

Loss per cent =

wingovtjobs.com
134, |1} Let the marked price be Ra. x.
T
S Inocase |, SP = R 00

Single discount equivalent 10 suc-
cesaive discounts of 20% and
e,

= I::Hh lﬂ-%.-g]‘ = 2%

T2x
= BP hilhhcl.ll-ﬂl-'l'ﬁa'

Tix Tox
BT T e

x
-l-u—ﬂﬂ

TZxl
A x-—‘ji—'mlﬂ.hm

130 (4] Let the smtont of the bil be
Rs. x
4x

—-—-]3
Rl

—_— L@.m 315
13,21 Tricky Approach|
Sl squivvalent discount for suc-

cesaive discounts of 10% and
20,

0= 100
[H:H'W—T -

Single equivalent discount for 26%

anvd 30%h,
28«30
}‘ -!-ELM

7.0
Effective increase

inCroasc perconiage

& [Mﬂﬂ—

1
[m m+——”;;°m.m

132
it
ST

= Ra. 25

"
BT
188 12

Increase percent lo ares

lﬂ‘

[m-m = 20%

5
130, (3 Milk in Hmvmﬂ-g = 0525
2 .
Mk i sesond vedsel = E—nllﬁ
Milkc by third vepsel = ‘: = i

m:mhnhum-ﬁ-—ﬂﬂ’lﬁ

140. [1] Let the numbers be 3x and v
Jx 4 x = 240
= dxw 240

240
— G
= KE 3

. Dilference = Ax-x= by
=1 w80« 1320

4L |4 Let the income of man he
B, = 11xand his expenditure b
Rs, IDx,

. Savings = x = Ra, BOOO
.. Monthly incorme of fan
11 8000
= T

Fs BI50

143. (] [ Tricky Appreach

143, () Vihume of the wire = n;
snx 0l x 0.0 = 3600 om®
= 368 cm?!

Volume of the sphere = %"‘-"’j
=384
%3
"WI’ .?"E.' - IE?
b H-ﬁf =3em
144 (2! | Tricky Approach
Ravtlo of the clreumizrences
= Ratio of padil = 3 - 8
148, [4] Required changs in area

=10x 10
e -

100
Megattve sign shiws 8 decrease
81 x 100
14813 Thme = o nal = Tare

xx 100
L js- L lﬂ:fwl

TH—

i
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147, 41 | Tricky Approach

:
K i

R .
wum-lmlhﬁ]

L1
K
:2—[""&}
=
g [ e
E ¥ rlﬂﬂ_l

L.e. The sum omounis o Hs
1 2000
14811 - 45* = Rs, 0000

Ew:tﬁﬁ% Rs. 11000

14807 - 45" = Ra. 9000

-1

[ LG0T = %ulﬁﬂumm

150 (4] - 45" = Ra, fikK}

oo0a
A0 = —F =360 & s, TROO0

1841} Ietie: take cognizance of somme-
thing means * {o understand or
consider something to tike no-
{lce of something,

132, 43) Whaever

13341 The word wither means ;1o
become less or weaker

154 (4] Jor

188, 141 didn't he

188, (1] The word Jettisen |Verb)
means . Lo throw something:
ahangban: Lo rejeet an idea
Henee the words jetthson and
acoept ATt ANeTMOS.

157, 14 The word Amellorate [Verb)
(seans | Lo make something bet
Le
Look at the sentence |
Sleps have heen tiken Lo amelio-
rate the sitiatun
Henee, (he wortls nmedlorats and
WOTRER A1 AnNiOmyToLUs.

138.11) The word Grotesque [Adjec-
tive] menans - Frange m o way
Uhat s vnpleasant: extremesy ugh'.

i,
Hetiee, Lhe wards protesgoe and
axtural are anlonymous.

1881 i The word Derboms {Adjoctive)
rmeans * behaving in 8 diahonesl

wingovtjobs.com

winy: i route that (8 not straight
Hence, the words devions and
stradght are antoryms

180, |2} The word Evamescent (Adjec-
thve) means . disappenring quickly
tram sighl or memary.

Hence, the wards evanescent and
parmansnt are GOy,

| 18LGA The word Debacle [Neun)

means | an event or & aualion

that 18 @ compbete fallure and
cinsses EMDASTAEAMETIL

Henee, Lhe words debacle and

derwndall are sy narmymmes,

| 182.11) The word Detraciss [Verh)
reeans | Lo sefuse b ber somelwdy
be & member of & social groug:
rofuse: shumn,

Look st the semtemce :

He was ostracised by his col-
leaguen for relusang (o suprpert the
sirike

Hence the words banish and
ostraciss arc synonymoes

183, 11 The word Prophylisctic (Adjec-
thve} meane © done or used in ar-
der to prevent a disease
Hence. the words prophylactic
and prewentive are syn EWVIOUS.

184, (3] The word Coddle (Verb]
mieans © Lo Lreal somebody with
too mrusch care and attention, pam
DT, COBBEL.

Henee, the wordy eoddle and sst-
Infy are synamymous.

188, (% The word Fllmey (Adjective]
means : badly made and not
strong enough: (him and eaally
Lo,

Henee, the words fllmsy and
Wl re SYTOny s

188, (3] disgise mysel

187, (4 had forged

168, |4) Mo Enprovement

188, 1) cut ' 170, {9 produeces

171 [ Sicaawny

172 (1} circumatantial

173 01) windiall 174, 1] Honororium

1T 4] Fma

178 2] Correct spellings of other

cackillo and pacdiatrics

wnaits are | measurable; parmige

| e vl manoewvrable

178. 13) Correct speliings of ather
wards are
trehle

words are : paraphernallz, pec |

177, (2] Correct spellings of obher |

taske, lunmel and |

'iﬂ.[-l:l: i."-.lrr-;l-'l -1'||¢'|“|.||.1- ol

wapis e papulous e
and perilius

180, (2} Carrect spellings ol oL
words are © lmprompt b
ancl linpenis,

180.(1) FRSG 82, {11 51
1830 RPGS 184 (3 HOST
188, (1] QISR

188, [ The secret had beeat das b
lw the agent before oo
RrTIing

187, (2] Saarely same one w1
foumd the ket child by e

188, 11 Hot meads v servex! Lk 1
collee and sandwiches 11
archerec il L0

188 14y Lot doce be down - ey amime
siredcled ouit

18 () 10w expecied by L RN
thist they woald win the e
tiomal irophy.

191 (3 The Ersdicotion i Smal |

192, (X To rliminate senall g v
widee kn len yenrs.

198, [ [scdation ol vietimes anl o
YIRS

1L (1] Preyvians projects fad L

188, [ Small pox vickims w0 o0
dic when héy wentrail U
e

108 (1) Spmedimes Commen b
are uscil as Abstract Moo
ey exprieas quolties. in i
alsoan, we use e bediay s
Hetwe The Judge ta bdm i
lap pisend,

197,12 The strctors o s
PReEs 1S
Indefinite numbeer + of = Foeg
tnckefenite qreantity »od o
in these senlenees, the sl
ik e L1500 comes wlbien ol 1)
the weiard pillir 1= stngalor
o rotted away should e 0 |

198, (% Here, replace that mos
people ke to stay at hoame |
most af the people lke 1o sl
at homs

188, 2 The word alm Lakee o
Ui al .

Heder at bringing about -
be waed.

300, (4 Here, plants are soil. e
perature and chembeal balancs
amount of modsture -
el
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